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1 Aufgabe

(a)

89/2 = 44 Rest 1

44/2 = 22 Rest 0

22/2 = 11 Rest 0

11/2 = 5 Rest 1

5/2 = 2 Rest 1

2/2 = 1 Rest 0

1/2 = 0 Rest 1

⇒ 8910 = 10110012

(b) Zuerst Umrechnung ins Dezimalsystem, um Division zu erleichtern:

327 = 3 ∗ 71 + 2 ∗ 70 = 2310

23/5 = 4 Rest 3

4/5 = 0 Rest 4

⇒ 327 = 435

(c)

436010 = 409610 + 25610 + 810 = 212 + 28 + 23 = 10001000010002

(d)

14142153768 =

001 100 001 100 010 001 101 011 111 1102 =

1100 0011 0001 0001 1010 1111 11102 =

C 3 1 1 A F E
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2 Aufgabe

(a)

CAFFEE16 = 14 12 17 17 16 168 = 1412171716168

(b)

3072 = 2048 + 1024 = 211 + 210 = 1100000000002

(c)

17246568 = 001 111 010 100 110 101 1102 = 01111 01010 01101 011102 = F A D E32

(d)

13162 = 1024 + 256 + 32 + 4 = 210 + 28 + 25 + 22 = 101001001002

3 Aufgabe

(a)

10110012

+ 110002

1 1

=11100012

(b)

1011012

+ 10111112

1 1 1 1 1 1 1

=100011002

(c)

10011002

+ 11000102

1

=101011102
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(d)

1010112

+ 1101112

1 1 1 1 1 1

=11000102

4 Aufgabe

(a)

201810 = 00000111 111000102

−201810 = 11111000 000111012 + 1

= 11111000 000111102

(b)

2734610 = 01101010 110100112

−2734610 = 10010101 001011002 + 1

= 10010101001011012

5 Aufgabe

(a)

101102 · 1112

101102

+ 101102

+ 101102

100110102
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(b)

100100102 · 10010012

100100102

+ 02

+ 02

+ 100100102

+ 02

+ 02

+ 100100102

101001101000102

(c)

100111102 · 101012

100111102

+ 02

+ 100111102

+ 02

+ 100111102

1100111101102
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